

Find the answer.

What is the oldest table in the world?



To solve the riddle:

1. Write each answer in lowest terms.
2. Cross out every box below that contains an answer.
3. Write the letters that remain on the line to read the answer.

1. $\frac{2}{7} \times \frac{1}{2} = -$

2. $\frac{5}{8} \times \frac{4}{5} = -$

3. $\frac{1}{6} \times \frac{2}{3} = -$

4. $\frac{1}{3} \times \frac{3}{4} = -$

5. $\frac{1}{2} \times \frac{2}{3} = -$

6. $\frac{1}{3} \times \frac{2}{5} = -$

7. $\frac{3}{5} \times \frac{5}{8} = -$

8. $\frac{2}{3} \times \frac{2}{3} = -$

9. $\frac{1}{4} \times \frac{1}{4} = -$

10. $\frac{1}{3} \times \frac{1}{2} = -$

11. $\frac{5}{5} \times \frac{8}{9} = -$

12. $\frac{1}{5} \times \frac{1}{3} = -$

13. $\frac{3}{4} \times \frac{3}{4} = -$

14. $\frac{2}{5} \times \frac{3}{2} = -$

15. $\frac{1}{2} \times \frac{1}{4} = -$

16. $\frac{1}{5} \times \frac{1}{4} = -$

17. $\frac{4}{7} \times \frac{2}{5} = -$

18. $\frac{5}{7} \times \frac{5}{6} = -$

19. $\frac{3}{7} \times \frac{5}{6} = -$

20. $\frac{4}{9} \times \frac{3}{2} = -$

21. $\frac{7}{8} \times \frac{4}{5} = -$

22. $\frac{12}{15} \times \frac{1}{2} = -$

23. $\frac{10}{14} \times \frac{1}{3} = -$

24. $\frac{1}{7} \times \frac{4}{5} = -$

25. $\frac{3}{7} \times \frac{1}{4} = -$

26. $\frac{3}{8} \times \frac{6}{5} = -$

27. $\frac{5}{12} \times \frac{3}{2} = -$

28. $\frac{3}{8} \times \frac{3}{8} = -$

29. $\frac{2}{3} \times \frac{1}{3} = -$

C $\frac{2}{8}$	M $\frac{5}{6}$	E $\frac{1}{8}$	U $\frac{10}{21}$	S $\frac{1}{2}$	N $\frac{1}{16}$	L $\frac{3}{10}$	X $\frac{1}{20}$	B $\frac{4}{5}$	T $\frac{9}{14}$	H $\frac{7}{10}$	I $\frac{4}{15}$
A $\frac{2}{5}$	Y $\frac{2}{15}$	P $\frac{10}{33}$	L $\frac{3}{28}$	L $\frac{4}{5}$	J $\frac{1}{3}$	D $\frac{3}{5}$	I $\frac{3}{7}$	V $\frac{1}{7}$	I $\frac{1}{9}$	C $\frac{5}{18}$	C $\frac{4}{35}$
A $\frac{16}{25}$	F $\frac{3}{8}$	G $\frac{1}{15}$	T $\frac{7}{16}$	O $\frac{5}{14}$	I $\frac{3}{4}$	T $\frac{5}{21}$	P $\frac{1}{4}$	O $\frac{4}{15}$	G $\frac{2}{3}$	T $\frac{1}{8}$	N $\frac{9}{32}$
T $\frac{3}{16}$	R $\frac{9}{16}$	A $\frac{11}{12}$	B $\frac{8}{9}$	W $\frac{9}{64}$	B $\frac{9}{21}$	K $\frac{8}{35}$	N $\frac{25}{42}$	L $\frac{19}{51}$	C $\frac{9}{20}$	E $\frac{5}{12}$	G $\frac{5}{8}$

Answer: _____